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Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 4 1352 |
Answer all Five questions from Group B, each question

carries 4marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & wift ufg yeal @ SR <, UAS U &1 99 6 b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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10. Find the dimension of a rectangular beam of

11.

strongest section that can be cutout from a circular
log of diameter 800 mm. 6

s g<irbR fora®r g 800 fiflo <l &
QAT ¥ 999 A9gd IRATPR &4 & 39 |
HICT AT 2 | A IHHT IRATY A1 I |

OR (312141)

An I section beam is of flanges 200 mm x 15 mm
thick, web 300 mm x 15 mm thick . Draw the shear
stress distribution diagram across the section, if it
carries a shear force of 30 KN.

Uh [ Bl oxA a1 el 200 firfio X 15
firflo Wier vd 99 300 firfle X 15 firflo
Her 21 3FR 39 WX Udh 30 KN BT i+
9l o7 &1 ® dl 39 &I & ufa &<+
yfadae &1 faaver = ©iq |

Find the forces in the members of the truss shown
in fig (1) 6

Fig (i)

N4055

(i)

(iii)

(iii)

(iv)

3 1615402

ST TN 9 A 2
(31) venfRe®

(@) a=gar

(W) e

(@) 37 9 313 I

Non- dimensional expression of deformation
is called...............

(a) Stress

(b) Strain

(c) Elongation

(d) All of the above

fasfa &1 s—famfoa aifreafaa &1 o1
ST 2 |

(31) ufcaa

(@) famfa

() errarg W qfE

(%) Swiaa g+l

The ratio of shear stress to shear strain in a
member is called ..........
(a) Bulk modulus
(b) Poisson’s ratio
(c) Modulus of rigidity
(d) Youn’s modulus
P.T.O
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OR (312raT) (vi) IR TS U<ref &1 ‘C’ ggdl WIUId Uq
K 3 HATUI® & a9 oo BIdT 2 |
(31) 2
Udh §HF SHTd R & T DI o418 40 Hio K<75¢C
2| 3ol 9 SedieR o™ 14T 2 | @ g2
ST 15 Ho B g W U R & Ford 3;
TS H deiadl F1d B | SEId dR &I (a) K=3C
3 - o 6 2 -
IBIs AR 7.8t/m T4 & E=2x10"kg/cm™ & | (@) SR FIE T
8. Asteel bar, 300 mm long , 50 mm wide and 12 mm (vi)  The strain absorbed by a body when strained
thick is subjected to an axial pull of 80 KN. 6 within its elastic limit is called.........
Determine the change in valume of the bar . (a) Resilience
E=2x 10" N/mm’and L.=0.32 (b) Proof resilience
m (c) Strain energy
(d) All the above
U$ WA B &I a1 300 frflo dlsTs (vii)  SI9 ST T & e} fUvs &
50 fiflo td #iters 12 firflo @ 39® 80 KN famfa A warfea fasfa &1 ...
e MR | Re=r oirar @ a1 g9 3mIaA ?’_5;%%' .
¥ gRad+ sid # | E=2x 10° N/mm’ Td &) Riviegta
1 —032 (@) g Risragt=
m (@) faefa sl
OR (31214T) (2) Suiqad g+
(viii) The amount of strain energy stored in a body
At a point in a two dimensional stresses system the is numerically ................ the work done by
normal stresses on two mutually perpendicular planes enternal forces.
are f_and £, (both alike) with a shear stress equal (a) More than
to q . Show that one of the principal stresses is zero if (b) Equal to
et (c) Less than
q =fXH1, (d) All the above

P.T.O
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OR (3121an) ®

What are the assumptions in the theory of bending

stress?
4+ yfaed & Rigid & a1 a=gan 287?

Prove that the maximum shear stress in rectangular )
X1

section is 1.5 times the average shear stress. 4

ARAATHR bIc H As<H Heq Ufagd sitaa

Fcdq gfaad &1 1.5 [om a1 2 | fig aW |
OR (3121a1) (xi)

Discuss the principle adopted in finding out the
forces in the members of a frame by the method
of sections. When this method is found most
suitable?

(xii)
S D Iagal ¥ 9 e & foag se—
faftr Rigia &) 3ru=man wimar 2, s o |
5 fafr &1 waffere Sy we foear imar 27

7 1615402

TH e & S8 h’ Td AR b’ @
dl MER & uRd: STsdr gl ...
BldT 2 |

(31) bh’/4

(@) bh’/6

(&) bh'/12

(%) Swiaa g+

For calculation purpose joints are assumed

(a) Fixed

(b) Pinned

(c) Rollar

(d) None of the above

MUET & ST A SAST Bl oo
HHET SITdT @

(31) 3mag

(@) PITR

(|) JerR

(%) SWiad A &Ig L)

The number of reaction component possible
at a roller support for a general loading is :
(a) One
(b) Two
(c) Three
(d) None of these

P.T.O
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Answer all Five Questions.

xx) 95 sHId $T /4 &Ie 4 S |91 @vs
oA @ ford wad fgerl @vs 2 |
@) 1-"Tvs

GROUPB

5x4=20

gl ufg g3 & SN < |

2.

What do you mean by principle of super position?
Explain.

JURUIT & Rgid 4 31U 91 G493 o7
ATET I |
OR (312141)

Define and explain the terms longitudinal strain,
lateral strain and poisson’s ratio.

Ifeed fagfa, ured fagfa va uigsH
IUTd & IRTING S =T oW |

State the principle of complementary shear stress
and prove it.

e i ufddd & fagia &1 fad ua
Rig &Y |

4

N4055 9 1615402

xiv) g \WIRG qI8ERA & foq sifredw I+
reel 39 fawg wR BT W&l $<dq 9
........ BT |
(31) =
() =LA
(|) srfErevan
(@) s 4 oI 7

(xV)  The rate of change of ................ is equal to
be rate of loading
(a) Shear force
(b) Bending moment
(c) Both
(d) None of these

(63 N IRadT & X IR & )
P Y&} BIdl 2 |
(@1 &ds 9
@) d& gl
(=) <=
() 39 9 BIg 78

(xvi) An inverted T-section is subjected to shear
force F. The maximum shear stress will
occur at :

(a) Top of the section

(b) Junction of web and flange
(¢) Neutral axis of the section
(d) None of these

P.T.O
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